[ Efficiency vs vertpos |
-~ 0.5

20.45
2
2 04
(&)
$0.35
0.3
0.25
0.2
0.15
0.1
0.05

..................................

.......................................

ICI

..........................................

effi

................................

1.0

Ratio

o
©
a

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQM_TT__originalREDO100
Efficiend —— poM_TT_ originalREDO100f

~N 1.2

T S S

efficiency vs ver

s o S e

s T O

Ratio

093P =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> R S SO U S R

O R e S S S AR A
€ R R
R S SR S S St St
L S e A A
P A S
O.02F ek b

e

o - N H H . N N N

= 0.0=---enr Y R I .

[©] r N N N N N N N N N
U0 o B B RRE ESE EEE AN £ S O
0.06F -4t T Tl i
N s N
002 5+ it i Tef i i

06§ 6 4 2 0 2 4 6 B8 10
Sim. PV z (cm)




	Contents
	Page 1


